S IOV F v

ACCESSORIES for MICRON CHUCK

O VA S | VAVE

STRAIGHT COLLET SCO-0

MODEL MODEL
L scpi1-b2 cope ®P3 - scpi1-b2 cope ©P2 -
-6 35014 -6 | 35122
-8 | 35015 -8 [ 35124
SC16 45 ss016| 2° 47 -10 | 35126
-12 | 35017 sc32 -12 35128 37.5 | 70
- -6 | 35026 -16 | 35130
fax al o -8 | 35028 20 35132
o N ala
2 - By SC20 -10 35030] 235 | 50 25 | 35134
-12 | 35032 6 | 35172
-16 | 35034 -8 [35174
-6 | 35074 -10 | 35176
-8 | 35076 scaz ~12/35178) _ | g
-10 | 35078 -16 | 35180
SC25 45 "zs080| °° 6o -20 | 35182
*dbw |\3(=F‘J"7 (dJ—KNo.17600) 16 | 35082 25 | 35184
% Collet removal jig(code No.17600) 20 | 35084 32 35186
— n
A=Y b GFovh—we917)
STRAIGHT COLLET (Oil-Hole Type) SCOH ©@-0
Sl ez =i 17500 SCOH ;OSZL cope ®P3 - :fm SCOH BAPSZL - ;’ﬁi‘:
% Collet removal jig(code No.17600) 55450 57 S | 35450 7
-8 | 35451 30 -8 | 35491 30
SCOH20 -10 | 35452| 235 | 545 | 34 -10 | 35492 32
-12 | 35453 35 -12 | 35493 35
-16 | 35454 38 SCOHA42 g5 35494 475 | 8° a2
-6 | 35461 27 -20 | 35495 45
-8 35462 30 -25 | 35496 50
-10 | 35463 32 -32 | 35497
SCOH25 5 —-7 -~ 30 60 5
-16 | 35465 38
-20 | 35466 41
L -6 35470 27 @ @ ®
== : (o]
-10 35472 32 SCJ| 16
SCOH32 -12 | 35473/ 375 | 70 35 0] @ ©)
. -16 | 35474 38 _
11 o = SCOH]| 32~ 20]
5 T =1 4.8 O omm o Nme
NOTE: Mark “H2" in the dimention table indicates ® D1 D1
the minimum cutting tool insertion amount.

FrvIUIF crqo0vFvvImH)

CHUCK WRENCH
TyJRINF HOOK SPANNER
FvwJ3—K CHUCK CODE P
RAIOYF 7 WRENCH CODE
MICRON CHUCK
HPC16,HPC20 FS52-55G 35852
HPC25 FS58-62G 35853
HPC32 FS68-75G 35854
HPC42 FS80-90G 35855
HPCO3H~HPC16H
HPCO3M~HPC12M FP45-48G 35851
HPCO3N~HPC12N
tY9-2—

* v v (vqro0vF vy HYU—Z CTH)

CAP for MICRON CHUCK H series CT

MODEL CODE ¢D ¢C T

HC10-03-NBR 8123270 3 13 5

e g HC10-04-NBR 8123280 4 13 5
HC10-05-NBR 8123230 5 13 5

159 .



Accessories

7otYY

L) JEESHUESORE  BENRICEUET

SRAEERT BT-BBTYwYT 20V F vy I5MH)
ADJUST SCREW (For BT- BBT shank standard MICRON CHUCK)

Mﬁ_r i
: )
G O = S
B| Le L1
MODEL CODE ) M L1 L2 w H B MICRON GHUCK

HAS1620-05 17602 5
HAS1620-15 17604 15 M10X1.0 15 14 5 35 5 hPois
HAS1620-25 17606 25
HAS2532-10 17612 10
HAS2532-20 17614 23 M18x1.0 20 17 5 5 5 hPoas
HAS2532-35 17616 35
HAS4250-10 17622 10
HAS4250-20 17624 33 M18x1.0 20 17 5 5 5 HEcae
HAS4250-35 17626 35

F L FrvIAICENBLTEYEEA. BIERIEX TV, 2. BHRARICOVWTREZIEERLFTOT. IEMREZ TERET IO,

NOTE: 1. The above Adjust Screws are sold separately.
2. Above Adjust Screws can not be used for "H" and "M" series Micron Chucks. Adjust Screws for "H" and "M" series Micron Chucks are manufactured to order.

SAEER Y (HSKY vy o310V F vy IEH)
ADJUST SCREW (For HSK shank standard MICRON CHUCK)

H M 8

)
\ 5=
I
D2
D1

D
<

MODEL CODE oD3 M L1 L2 H B MICRON CHUCK

.~ MOB 17652 3 M6 18 25 3 HSKAS0 |
HAS1620-05- = Mo8 17654 15 13 4 V8 5 16 3 4 Hskae3 | HRES18

. M2 17656 5 M12 11 5 HSKAT100 |

. Mo6 17658 3 M6 18 3 HSKAS0 |
HAS2532-10- ~ Mmo8 17660 23 21 4 V8 16 4 Hskae3 | HESES

. M12 17662 5 Mi12 10 115 4 5 HSKA100 !

.~ Mo8 17664 4 M8 28 4 HSKAB3 |
HAS4250-10- 15 17666 8 31 5 Mm12 115 5 Hska10o | HPC42

E L Fr v IRFICIBMBLTBYE B BIEBTEXTEV, 2. FHRIRICOVTIIREEER LI ITDT. FEMREZ TEET I,

NOTE : 1. The above Adjust Screws are sold separately.
2. Above Adjust Screws can not be used for "H" and "M" series Micron Chucks. Adjust Screws for "H" and "M" series Micron Chucks are manufactured to order.

SREER S (HSKY +vIT«AIOVF v ISH)
ADJUST SCREW (For HSK shank standard MICRON CHUCK)

P

H M

D3
D2

| 5
®

L
MODEL CODE M L D1 D2 D3 K H MICRONIGEDGH

BT, BBT HSK
AS17-2-M5-CTW 17672 M5x0.8 17 5 3 5 25 3
AS17-2-M6-CTW 17676 MEX1.0 17 5 3 HPCO8N
AS22-2-M6-CTW 17678 ) 20 HPCO8M HPCO8M, HPCO8N
AS22-2-M8-CTW 17680
AS25.2-M8-CTW 17682 M8x1.25 o5 8 5 4 4 5 HPC10N, HPCOSM, HPC10M HPC10N, HPCO9M~12M, HPC12N
AS25-2-M10-CTW 17684 M10x1.5 10 6 5 5 6 HPC12N, HPC11M,12M HSKA100-HPC12M

E L HYU—ZXORERVBEIF. SFHAR—IICEHLTBUET,

160



